
GPDW (TYPE "X") REFER TO ROOM 
FINISH SCHEDULE FOR FINISHES

METAL STUD FRAMING, TYP.

BENT 1/8" HOT ROLLED STEEL PLATE SECURE TO 
METAL STUD FLANGE W/ 2 
FASTENERS MIN. AT T.V. BRACKETS, ROOF 
ACCESS LADDERS.

1'
-4

" O
.C

. M
A

X

NOTE:  
SEE PLAN AND PARTITION SCHEDULE FOR PARTITION TYPE.  SEE
ARCHITECTURAL DRAWINGS FOR ALL SUPPORT LOCATIONS.

 

CLIP ANGLE TO STUD @ BACK 
PLATE CONNECTION IF REQ'D BY 
LOAD, REFER TO MFR'S 
REQUIREMENTS

16 GA STEEL PLATE SECURE TO METAL STUD 
FLANGE W/ 2 FASTENERS MIN. AT CASEWORK AS 
INDICATED.

TYPICAL BACK PLATE ANCHOR DETAIL
3" = 1'-0"4

CUBICLE CURTAIN TRACK DETAIL
3" = 1'-0"7

NOTCH RETURN FLANGE DEPTH OF 
BACK PLATE

GALVINIZED 12 GA STEEL HANGER
WIRE-SUSPENDED FROM DECK
ABOVE (TYP).

SUSPENDED CEILING TILE

T-BAR

#8 PAN HEAD SHEET
METAL SCREW 3'-0" O.C.

CURTAIN TRACK

Drawing Title

Approved: Project Director

Project Title

Date

Location

Checked

Building Number

Project Number

Drawing Number

Drawn

Dwg.         of 41Revisions: Date

CONSULTANTS: ARCHITECT/ENGINEERS:

on
e 

ei
gh

th
 in

ch
 =

 o
ne

 f
oo

t
16

8
4

0

B

A

C

D

E

F

th
re

e 
in

ch
es

 =
 o

ne
 fo

ot
6"

1
0

6"
on

e 
an

d 
on

e 
ha

lf 
in

ch
es

 =
 o

ne
 fo

ot
on

e 
in

ch
 =

 o
ne

 fo
ot

2
0

6"
6"

0
2

th
re

e 
qu

ar
te

rs
 in

ch
 =

 o
ne

 fo
ot

on
e 

ha
lf 

in
ch

 =
 o

ne
 fo

ot
4

0
th

re
e 

ei
gh

th
s 

in
ch

 =
 o

ne
 fo

ot
4

0
0

4
8

on
e 

qu
ar

te
r 

in
ch

 =
 o

ne
 fo

ot

VA FORM 08-6231

1 2 3 4 5 6 87 9

F

E

D

C

B

A

97 8654321

Scale: As Noted

12.18.2012 KAD LMB

800 IRVING AVENUE, SYRACUSE NY 13210

RENOVATE FOR WOMEN'S CLINIC VA# 528A7-13-701
DA# 12-001
 

SYRACUSE
313 East Willow Street
Suite 107
Syracuse, NY 13203
ph: 315.473.1800

ROCHESTER
1344 University Avenue
Suite 140
Rochester, NY 14607
ph: 585.461.4771

SYRACUSE,  NEW YORK 13202

INTEGRATED PROJECT DELIVERY

ONE WEBSTER'S LANDING

315.423.0185

1
 

AS-501

MISCELLANEOUS DETAILS

14

 

3 5/8" METAL STUD @ 16" O.C. 
ATTACHED TO EXISTING 
STRUCTURE 

ACT
AS SCHED.

5/8" GWB 

EXG. WINDOW UNIT

5"

RADIANT CEILING PANEL 
(SEE MECHANICAL)

DRAPERY POCKET 

3 5/8" METAL STUD @ 32" O.C. 
AS REQUIRED 

SE
E 

RC
P 

FO
R 

HE
IG

HT

4 7/8"

TYP. WINDOW BULKHEAD DETAIL 
Scale: 3/4" = 1'-0"17

T.O. EXG. STAIR LANDING

 T.O. EXG. FLOOR CONSTRUCTION

 

5'-10" 4'-0"

4"

RAMP DETAIL
Scale: 3/4" = 1'-0"16

FIREPLACE DETAIL
Scale: 3/4" = 1'-0"18

LIGHTWEIGHT CONCRETE FILL 

XD

X11 PLUG IN FIREPLACE-
MFR: DIMPLEX, MODEL: 
BF9000

AL
IG

N

PLAM 
SHELVING

 

19
AS-501

20
A1-501

XD

FIREPLACE SECTION
Scale: 3/4" = 1'-0"20

1'-
6

"
6

"

2"

4'
-6

"

 

PLUG IN FIREPLACE-
MFR: DIMPLEX, MODEL: 
BF9000

STAINED WOOD LEDGE 
(WS-1)

 4"

3"

PORCELAIN TILE 
(PCT-4)

 

EXISTING WALL 
CONSTRUCTION

 

 

FLOORING AND BASE 
AS SCHEDULED

TALL STORAGE CABINET
Scale: 1 1/2" = 1'-0"5

3/4" SOLID CORE DOOR
W/ PLAM  ALL EXPOSED

SURFACES

3'
-4

"

1'-5" CLEAR U.N.O.
NOTE: SEE DETAIL 1/AS-501 
FOR TYPICAL NOTES & 
DIMENSIONS, U.N.O.

3/4" PLYWOOD W/ PLAM FINISH
ALL EXPOSED SIDES

4"
3'

-4
"

WALL CABINET W/ TASK LIGHTING
Scale: 1 1/2" = 1'-0"10

1'-0" CLR MIN. 

1/2" PARTICLE BOARD W/
PLAM FINISH

3'
-0

"

1'-2"

3/4" PARTICLE BOARD W/
PLAM

3/4" PLYWOOD ADJ. SHELF W/ PLAM
FINISH ALL SURFACES

STANDARDS & BRACKETS.  LET
INTO CABINET SIDES, TYP.  REFER

TO SPECIFICATION.

1 x 4 CLEAT SECURED TO
METAL BACKER PLATE. SEE

DETAIL 4/AS-501

6
"  

TY
P.

5/8" GPDW

3-5/8" METAL STUD
FRAMING TO DECK
@ 16" O.C.

1"

NOTE: PROVIDE PLAM ON ALL
EXPOSED SURFACES, TYP.

VALANCE

2"

TASK LIGHT, COORD. W/ ELEC.

1 x 4 CLEAT 
SECURED TO 
BACK PLATE 
ANCHOR 2'-0" 
O.C.  MAX., MIN. 
(2) PER 
CLEAT, TYP.

3/4" PLYWOOD ADJ. SHELF W/ PLAM
FINISH ALL SURFACES

1/2
"

CORNER BEAD
COMPRESSIBLE BACKER

ROD AND SEALANT

CLG. AS SCHED.

BASE CABINET W/ DRAWER
Scale: 1 1/2" = 1'-0"1

3/4" PARTICLE BOARD W/
PLAM ALL EXPOSED EDGES

AND SURFACES

BASE AS SCHEDULED

3/4" PARTICLE BOARD
DOOR W/ PLAM FINISH

3/4" PARTICLE BOARD ADJ.
SHELF W/ PLAM FIN.

1 x 4 CLEAT 
SECURED TO 
BACK PLATE 
ANCHOR 
2'-0" O.C. 
MAX., MIN. 
(2) PER 
CLEAT, TYP.

3/4" PARTICLE BOARD
DRAWER FRONT W/

PLAM FINISH

DOOR PULLS (SEE SPECS)
DRAWER

SLIDES AS
SPECIFIED

6
"

MIN 1X3 HARDWOOD DRAWER
STOP, TYP.

4"
3'

-0
"

2'-0"

1"

2"

4"

WALL CONSTRUCTION

2X WOOD 
BLOCKING 
BASE TYP.

STANDARDS & BRACKETS.
LET INTO CABINET SIDES.

SEE SPECIFICATIONS.

9"
 M

IN
. C

LR
.

6" MAX

3/4" EXTERIOR GRADE
PLYWOOD REMOVABLE

PANEL W/ PL-1 FINISH

WD BLOCKING SCREWED
TO END PANEL BEYOND

PROVIDE THREADED
INSERTS & WOOD BLOCKING

FOR PANEL ATTACHMENT
SCREWS, 12" ON CENTER

BOTH WAYS

7"

4"

2'
-3

" M
IN

. C
LR

.

3/4" EXTERIOR
GRADE PLYWOOD

W/PL-1 FIN.

2'
-1

0"

WALL CONSTRUCTION AS
SCHEDULED

SINK- SEE PLUMBNG
SPECIFICATIONS

1x WD LEDGER TYP BOTH
SIDES, RIP TO SIZE

SINK APRON DETAIL
Scale: 1 1/2" = 1'-0"3

WALL CABINET W/ MICROWAVE SHELF
Scale: 1 1/2" = 1'-0"9

3/4" PLYWOOD W/HARDWOOD EDGE
BAND.  PLAM ALL EXPOSED EDGES AND

SURFACES

3/4" PARTICLEBOARD

+/
- 1

'-2
"

VERIFY WITH OWNER

3/4" PLYWOOD W/ PLAM
FINISH BEYOND

(C
OO

RD
. S

HE
LF

 S
IZ

E 
W

/ O
W

NE
R

PR
OV

ID
ED

 M
IC

RO
W

AV
E)

PROVIDE OPENING FOR ELEC.
OUTLET. COORD. W/ DIV. 16

6
" T

YP
.

NOTE: SEE DETAIL 1/AS-501 FOR TYP. 
NOTES AND DIMENSIONS U.N.O.

PROVIDE GROMMET FOR ELEC. ACCESS

VALANCE 2"

ALIGN WITH WALL CAB.

1/2
"

COMPRESSIBLE BACKER
ROD AND SEALANT

MICROWAVE (N.I.C.)

2'
-6

"

TASK LIGHT.  COORDINATE WITH ELEC.

ROD & SHELF DETAIL
Scale: 1 1/2" = 1'-0"14

6
'-0

"
TO

 F
IN

 F
LR

BACK PLATE ANCHOR SEE DETAIL 
4/AS-501 @ STUD WALL

6
"

1'-4"

3"

1 1
/2

"

EQUAL TO K&V #734 & #735
FLANGE W/1 1/16" O.D. 
S.S. TUBE

3/4" PLYWOOD WITH
PL-1 FINISH ON ALL 
EXPOSED SURFACES

4"

1'-0"

2"

3MM PVC EDGEBANDING

TYPICAL COUNTER/ TRANSACTION SECTION
Scale: 1 1/2" = 1'-0"12

CORNER
BEAD (TYP.)

VARIES - SEE RCP

5/8" GPDW

3 5/8" MET STUD
BRACING @ 
32" O.C. TO STRUCT. 
ABOVE
 
3 5/8" MET. STUD
FRAMING
@ 16" O.C. TO
STRUCTURE ABOVE

SE
E 

RC
P 

FO
R

HE
IG

HT

WALL TO ACT SOFFIT 
Scale: 1 1/2" = 1'-0"15

SE
E 

RC
P 

FO
R

HE
IG

HT

ACT AS
SCHED

WALL CONSTRUCTION AS SCHEDULED

6
" T

YP

CORNER
BEAD (TYP.)

5/8" GPDW

3 5/8" MET STUD
BRACING @ 32" 
O.C.  TO STRUCT. 
ABOVE

3 5/8" MET. STUD FRAMING
@ 16" O.C.

SE
E 

RC
P 

FO
R 

HE
IG

HT

BULK HEAD DETAIL 
Scale: 1 1/2" = 1'-0"11

SE
E 

RC
P 

FO
R 

HE
IG

HT

6
" T

YPACT AS
SCHED

SE
E 

RC
P 

FO
R

HE
IG

HT

 AND COORDINATE WITH WALL
CABINET DETAIL 11/1A9.02 AT

UPPER CABINETS

WALL CONSTRUCTION
AS SCHEDULED

2"

WALL CABINET
Scale: 1 1/2" = 1'-0"2

1'-0"  CLR

1/2" PLYWD W/ PLAM FINISH

SE
E 

EL
EV

AT
IO

NS

1'-2"3/4" PLYWOOD WITH PLAM

3/4" PLYWOOD ADJ. SHELF
W/ HDWD EDGE BAND &

PLAM FIN.  ALL SURFACES

STANDARDS & BRACKETS

1 x 4 CLEAT SECURED TO

6
" T

YP
.

CLG. AS SCHED.

5/8" GPDW
3-5/8" MET. STUD
FRAMING TO DECK
@ 16" O.C.

1"

NOTE: PROVIDE PLAM ON ALL 
EXPOSED SURFACES, TYP.

FOUR DRAWER BASE CABINET
Scale: 1 1/2" = 1'-0"8

1'-
0"

EQ
EQ

@ 30" & DEEPER CTP, PROVIDE FILLER
PANEL FROM BACK OF CABINET TO

WALL

EQ

NOTE: SEE DETAIL 
1/AS-501 FOR 
TYPICAL NOTES & 
DIMENSIONS, 
U.N.O.

3'
-0

"

BACKER PLATE, SEE
DETAIL 4/AS-501

2'-7" U.N.O.

RAKKS EH-1824 OR EQUAL.
COLOR TO BE DETERMINED

SOLID SURFACE COUNTERTOP DETAIL
Scale: 1 1/2" = 1'-0"6

4"

1/2" SOLID SURFACE
ON 1/2" PLYWOOD

NOTE: PROVIDE GROMMETS AT ALL COUNTERTOPS- COORD.  
LOCATIONS W/ OWNER. 

AS
 N

OT
ED

  

1 1
/4

"

TYPICAL COUNTER SECTION
Scale: 1 1/2" = 1'-0"13

3'
-6

"

6
"

5/8" GPDW, PAINT

BASE AS SCHEDULED BASE AS SCHED.

3/4" PLYWD. W/
PLAM FINISH ON 
ALL EXPOSED 
EDGES & 
SURFACES

2 x 4 CLEAT SECURED
TO WOOD STUDS AT 16" O.C.

2x WOOD BLK'G
BETWEEN WOOD

FRAMING

2 4

2'
-6

"1'-
10

 3
/4

"

2 X WOOD FRAMING

2'-6"

RAKKS EH-1824 OR EQUAL.
COLOR TO BE DETERMINED

COUNTERTOP- SEE
ELEVATIONS ON SHEET

AS-201 FOR FINISHES

TRANSACTION WALL
BEYOND

1 1/2"

COUNTERTOP, SEE
ELEVATIONS DRAWINGS

FOR FINISHES

SOLID SURFACE COUNTER ON
3/4" MARINE GRADE PLYWD.

SOLID SURFACE
COUNTERTOP AS

SCHEDULED ON AS-201,
SEE  DETAIL 6/AS-501

FOR TYPICAL NOTES 2'-1" U.N.O.

3'
-6

"

6
"

5/8" GPDW, PNT-1

BASE AS SCHEDULED BASE AS 
SCHED.

3/4" PLYWD. W/
PLAM FINISH 
ON ALL 
EXPOSED 
EDGES & 
SURFACES 
(PL-1)

2 x 4 CLEAT SECURED
TO WOOD STUDS AT 16" O.C.

2x WOOD BLK'G
BETWEEN WOOD

FRAMING

1 1/2"

2 4

2
4

2 X WOOD FRAMING

PAINT
1 1

/4
"

2 1/2"    HOLES 
(FOR FEEDING 
WIRING, TYP.)2

4
2

4

2'
-6

"

1'-0"

RAKKS EH-1824 OR EQUAL.
COLOR TO BE DETERMINED

TACKABLE WALL PANEL (TB -1)

2'-6"

3/4" PLYWD. & 1/2" THICK SOLID
SURFACE COUNTERTOP (SSC-2)

3/4" PLYWD. & 1/2" THICK
SOLID SURFACE COUNTERTOP

 

 BOOKCASE DETAIL
Scale: 1 1/2" = 1'-0"19

3/4" PARTICLE BOARD W/ 
PLAM ALL EXPOSED EDGES 
AND SURFACES

BASE AS SCHEDULED

1 x 4 CLEAT 
SECURED TO 
BACK PLATE 
ANCHOR 
2'-0" O.C. 
MAX., MIN. 
(2) PER 
CLEAT, TYP.

3'
-0

"

10 3/4"

2"

6
"

1'-0"  U.N.O.
EXG. WALL 
CONSTRUCTION
 

2X WOOD 
BLOCKING 
BASE TYP.

STANDARDS & BRACKETS. 
LET INTO CABINET SIDES. 
SEE SPECIFICATIONS.

3/4" PARTICLE BOARD 
SHELF W/ PLAM ALL 
EXPOSED EDGES AND 
SURFACES

 

3/4" PLYWD. & 1/2" THICK SOLID
SURFACE COUNTERTOP (SSC-1)

TRANSLUSCENT 
RESIN PANEL ON 
STANDOFFS (TRP-1)

2'-1"  U.N.O.

2'-1" U.N.O.

7 1/4"

2'
-7

"
1 7

/8
"

1 7
/8

"

FASTENER AND FASTENING 
PLATE, 12" O.C. MAX.

MEMBRANE ROOF PRE- 
MANUFACTURED ROOF CURB 
CORNER (TYP. OF 4). INFILL WITH 
REINFORCED MEMBRANE 
BETWEEN IF NECESSARY

SHEET METAL FLASHING

FASTENER AT 12" O.C.

MINIMUM 1-1/2" HOT AIR WELD

CUT OFF EDGE 
SEALANT 

EXISTING MEMBRANE ROOF 
SYSTEM

12
" M

AX
.

CREASE MEMBRANE AT 
ANGLE CHANGE TO LIMIT 
BRIDGING TO 3/4" MAXIMUM

EXISTING ROOF CONSTUCTION

BONDING ADHESIVE 

SEALANT AS REQUIRED

USE ONE MEMBRANE WRAP CORNER 
AT EACH CORNER OF THE CURB. HOT 
AIR WELD ALL SEAMS IN 
ACCORDANCE WITH STANDARD 
SPLICING METHODS. 

ROOF PENETRATION DETAIL
Scale: 1 1/2" = 1'-0"21


